
Solve each problem , find the answers in the
box below and shade in the corresponding

number in the picture .
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Answer, find & shade
ADDITION

A.     8,67,209
   + 10,02,687

B.     6,67,267
      +   82,999

C.     8,89,297
    +  3,00,307

D.     1,50,719
    +  7,20,360

G.     4,698,172
    +  3,817,154

E.     7,93,851
    +  4,90,853

F.     9,847,243
      +  9,64,020

I.     4,135,199
    +  2,791,305

H.      3,46,982
    +  1,827,691

  1.    871,079
  2.  10,811,263
  3.    7,50,266

          4.    8,515,326
          5.    1,869,896
          6.    1,284,704

          7.    2,174,673
          8.    6,926,504
          9.    1,189,604
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